`base catalyzed’ aldol condensation reaction: 
An example of a `alpha H’  acidity’ and carbanion chemistry

Overall Reaction : aldol condensation to dibenzalacetone
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mechanistic steps to benzal acetone intermediate:

1) acid/base reaction to form  initial keto-enol tautomer carbanions
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Keto carbanion



 Keto carbanion

enol carbanion

2) condensation of 1st benzaldehyde with initial carbanion  intermediate




3) hydration of condensation intermediate





4) dehydration to form benzalacetone









Benzalacetone

Steps 5-7 …REPEAT 1-4 starting with benzalacetone instead of acetone to make final  product, dibenzalacetone

POSSIBLE SIDE REACTION (controlled by keeping acetone/aldehyde < 1)
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the ( H on acetone is especially acidic because the keto carbanion is stabilized by the enol carbanion
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note that the OH- is regenerated so that it is in fact a catalyst
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